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Q 1 A reaction which takes place in presence of light is known as _________. 
(a) Photochemical reaction(b) Electrochemical reaction
(c) Electromechanical reaction(d) Combination reaction

Mark (1) 

Q 2 
The above reaction is an example of
(a) Displacement reaction (b) Decomposition reaction
(c) Combination reaction (d) Double displacement reaction

Mark (1) 

Q 3 Antioxidants are 

(a) Reducing agents(b) Oxidising agents(c) Dehydrating agents(d) Hydrating agents

Mark (1) 

Q 4 Function of enzyme present in human saliva is to break down- 

(a) Fats into fatty acids(b) Proteins into amino acids
(c) Starch into sugar(d) Complex vitamins and lipids

Mark (1) 

Q 5 Which of the following muscles regulate the exit of food from the stomach? 

(a) Sphincter (b) Villi(c) Anal spincter (d) Ciliary


Mark (1) 

Q 6 When the current in a wire moves from south to north, the direction of the deflection in the magnetic needle parallel to the wire will be: 
(a) East to west (b) West to east(c) East to north(d) West to south

Mark (1) 

Q 7 Negative value of focal length of a spherical mirror indicates that it is 

(a) Concave mirror(b) Convex mirror(c) Plane mirror(d) Convex mirror of small focal length

Mark (1) 

Q 8 Refraction of light can take place at the boundary of 

(a) Transparent media(b) Opaque media(c) Any medium(d) Rarer medium

Mark (1) 

Q 9 The three R’s referred to in context to save environment are: 

(a) Reduce, Recycle and Reuse(b) Refuse, Reduce and Reuse
(c) Remain, Relent and Repent(d) Reinforce, Repair and Render

Mark (1) 

Q 10 Which of the following correctly represents the reaction described in statement given below?
Barium chloride solution reacts with aluminum sulphate solution to form a precipitate of barium sulphate and aluminium chloride solution. 

(a) [image: image1.png]BaCly() + Aly(30 4)3() —— BaS04(9 + ACI (D)




 (b) [image: image2.png]BaCly + Aly(50 )3 —> BaS04 + ACl;



             
(c) [image: image3.png]3BaCly(ag) + Aly(S0 4)3(a) —— 3BaS04(8) + 24101 (agq)




(d) [image: image4.png]BaCly(s) +Aly (30 4)3(ac) ——> 3BaS04(aq) +2AC15(l)




Mark (2) 

Q 11 Which of the following reaction is called double displacement reaction? 

(a) 

[image: image5.png]Zn(s) + CuS0 4 (a) —> ZrS04 ac+ Cu(d)




(b) 

[image: image6.png]Pb(s)+ CuCly(ag) — PHCIz(a)+Cu()




(c)  [image: image7.png]Haz504(ag) +BaCly(ag) —> BaS04(8) + 2NaCl(ag)



  


(d) [image: image8.png]C(s) + 2H, —> CH,



 

Mark (2) 

Q 12 Small intestine receives secretions from- 

(a) Large intestine(b) Pancreas(c) Oesophagus(d) Stomach

Mark (2) 

Q 13 Blood from the heart enters the lungs from the: 

(a) Right auricle(b) Right ventricle(c) Left auricle(d) Left ventricle

Mark (2) 

Q 14 The waste materials in plants are stored in the form of: 

(a) Water(b) Gums and resins(c) Minerals(d) Sugar

Mark (2) 

Q 15 Parameters of electricity supply in India are 

(a) Potential Difference of 220 V, Frequency of 50 hertz and Current Rating of 5A/15A
(b) Potential Difference of 150 V, Frequency of 40 hertz and Current Rating of 10 A
(c) Potential Difference of 220 V, Frequency of 60 hertz and Current Rating of 15A
(d) Potential Difference of 220 V, Frequency of 40 hertz and Current Rating of 5 A

Mark (2) 

Q 16 Pick the incorrect statement regarding fuse. Fuse is used for protecting the circuits due to 

(a) Short-circuiting(b) Overloading of circuits (c) Faulty connections(d) Theft

Mark (2) 

Q 17 Construction of big dams, though useful still draws flak from society. Which of the following is not one of the reasons for protest against contruction of dams? 

(a) Displacement of large number of peasants and tribes.
(b) Expenditure of huge amounts of public money without proportional benefits cause economic problems.(c) Deforestation and loss of biodiversity.(d) Production of electricity.

Mark (2) 

Q 18 International and national laws and regulations regarding environment land resources are being formulated for- 

(a) Over-utilisation of resources(b) Degradation of environment
(c) Increased awareness about environmental problems
(d) Increased number of forests

Mark (2) 

Q 19 When iron nail is put in copper sulphate solution 

(a) Colour of iron nail remains same 
(b) Colour of copper sulphate solution remains same
(c) Colour of iron nail turns brown and that of copper sulphate solution fades 
(d) Colour of iron nail turns blue and that of copper sulphate becomes brown

Mark (3) 

Q 20 Which of the following statement is not correct? 

(a) Corrosion is the process in which metals are eaten up gradually by the action of air, moisture or a chemical (such as an acid) on their surface.(b) The rusting of iron is a redox reaction.
(c) Corrosion weakens the iron and steel objects.(d) Chemical formula of rust is Fe2 O3.xH2O

Mark (3) 

Q 21 Arrange the following events in sequence that take place in the process of photosynthesis.
(a) Conversion of light energy into chemical energy and splitting of water molecules into hydrogen and oxygen.
(b) Reduction of carbon dioxide to carbohydrates.
(c) Absorption of light energy by chlorophyll. 

(a) (a)[image: image9.png]


 (b)[image: image10.png]


 (c)(b) (b)[image: image11.png]


 (c) [image: image12.png]


(a)(c) (a)[image: image13.png]


 (c)[image: image14.png]


 (b)(d) (c)[image: image15.png]


 (a)[image: image16.png]


 (b)

Mark (3) 

Q 22 Magnitude of magnification less than 1 indicates: 

(a) Size of image > Size of object(b) Size of image = Size of object
(c) Size of image < Size of object(d) Size of image is independent of size of object

Mark (3) 

Q 23 The distance between a spherical lens and the image is – 15 cm. The lens is 

(a) Concave lens(b) Convex lens(c) Either of the two irrespective of the object distance
(d) Either Concave lens or Convex lens with object between O and F.

Mark (3) 

Q 24 Loss of vegetation cover, diversion for high water demanding crops, pollution from industrial effluents and urban wastes have resulted in: 

(a) Non-sustainability of underground water availability (b) Unpredictable rainfall
(c) Neglect of local irrigation methods(d) Frequent floods

                                                                                                                                Mark (3)
Q 25 Regarding the reaction
 [image: image17.png]HjS+Cly ——S+HCL



 
Identify the correct statement. 
(I)  Cl2 is oxidising agent                                    
(II)  Cl2 is oxidised
(III)  H2S is reducing agent
(IV)   H2 S is reduced  

(a) I and II are correct   (b) II and III are correct(c) III and  I are correct (d) II and IV are correct

Mark (5) 

Q 26 Oxides of elements of group 1 are: 

(a) Acidic 
(b) Basic
(c) Neutral
(d) Amphoteric 

Mark (5) 

Q 27 Magnetic field is a quantity that has both direction and magnitude. Pick out the  incorrect statement 
(a) The magnetic field lines emerge from north pole and merge at the south pole.
(b) Inside the magnet, the direction of field lines is from its south pole to its north pole.
(c) Inside the magnet, the direction of field lines is from its north pole to its south pole.
(d) No two field lines intersect each other and the field is strongest where the field lines are crowded.

Mark (5) 
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